B3R T 7K & W N i AR IR AT e (& b)) THE
£ o= £ At =
B4 € D5
4 o5 FEOE




BEMESRIRGAAIRER &E)

Hn =
FD5 iR
T 51 & &% 109579
By ~ ~ ~ ~ ~
1035-6
EL)| EE EL)| EE =) rE =) rE =) rE =) EE =)
REER VU ¢ 350 m 96.00 96.00
EWMHEL [ERET HHERI T BH0.28m3 m3 | 30254 302.54
BRA #HEOLE LR BH0.28m3 m3 53.56 53.56
BRA HEOTE/09=BRLLHELE I |BH0.28m3 59.51
#BEB fMEHLTE HBEL BHO0.28m3 m3 216.83 216.83
BREB #MEHTE/09=1BRLYHETE KRt [BH0.28m3 m3 240.92
%t (EHIE-ERB ERLWELE HBI) [DT4(BH0.28) | m3 61.62
EMRT TKEREEELLE-LE ¢ 350 m 93.75 93.75
TUR—ILARESHEF VU ¢ 350 #8 3 3
INORHEEE AT R—ILRIESHF VU ¢ 350 #H 1 1
HHRI—+ m 93.75 93.75
BEEBET BWER WEHLTE LR m3 10.29 10.29
BWEE HEOTE/0=EORLLELE LR m3 11.43
ERLIET ECAHB ST BEBRET REIR20mET | m
EEIZE25mUT | m
EHIE3OMUT | m
REIE3SmELTF | m 96.00 96.00
BEGAA#BSLEMER m2 105.00 105.00




BEMESRIRGAAIRER &E)

H B
Z M5 BB
Tal| @ & m &% 10870
B ~ ~ ~ ~ ~
1035-6
£ EE L3 EE 1% s A% s 1“4 s 1% s 1%
1B LOUTUR—ILERET

}‘E“"?T’ﬂ-‘_ B2 0y ) T-25 # 1 1
" T-14 #8

ELE 25mm & 1 1
" 45mm &
REYLY 5cm 1@

" 10cm & 1 1
" 15¢m &

TERR 12cm & 1 1
BEE(ERHRED) 30cm 1@
" 60cm &
" 90cm &
" 120cm &

" 150cm & 2 2

[EhR 9cm & 1 1

<UR—ILEIF ¢ 350 EFT 1 1

&0 8 AR T ¢ 350 EFT 3 3
TUR—ILREIMUT EFT

TUR—ILREImE~4m T EFT 1 1
TUR—ILREAMEB~5mLLT EFT

b ROVAC AT 1 1




BEMESRIRGAAIRER &E)

H B
Z M5 BB
Tal| @ & m &% 10870
B ~ ~ ~ ~ ~
1035-6
£ EE L3 EE 1% s A% s 1“4 s 1% s 1%
FHMABLOUTUR—IILERET

}‘E““Fv’ﬂ-‘_ BTE- 28 (Wat T-25 # 1 1
" T-14 #8

ELE 25mm & 1 1
" 45mm &
REYLY 5cm 1@

" 10cm & 1 1
" 15¢m &

TERR 17cm & 1 1
BEE(ERHRED) 90cm 1@
" 120cm &

" 150cm & 2 2

" 180cm & 1 1
" 210cm &
i 240cm &

ERR 16cm & 1 1

&0 8 AR T ¢ 350 EFT 1 1
TUR—ILREAMUT EFT
TUR—ILREAMEB~5mLLT EL

TR—LRS5mEB~6mEL T EL 1 1




REMESRHRGINT)

H B
Z D5 BiR
T | @ & &% 10870
B ~
1035-6
£ EE 23] EE L) s 1% s L) s 1“4 EE 1%

MIIT | SRESH |BEFYT ¢ 3.00m & 48 48

M —2y $3.00m t=22mm| m 5.7 5.7

R — 7B $3.00m t=22mm| [A] 1 1

HHRERET Gl 1 1

[EASEHIFEIAA it N=30| m 2.58 2.58

[EASEHIFEIAA FRELYE | m 425 425

=L 9.6m Gl 2 2

E#a7)— m3 11.20 11.20

ShkEEKT Gl 1 1

EIKERRLIE &L 1 1

r—o 81 EF m 1.20 1.20

TV UHRET YIEF15.10m | BRT 1 1

=GRS5 t 2.36 2.36

RARYSYS t 0.03 0.03

FiR-BERISYTER (r—Y2 T R05yTHAORHFYT) t 2.39

HHERIT m3 51.22 51.22

BRB MEHTE HRL BHO0.28m3 m3 4.86 486

#RB WEHLIE/0I=EBRILHLETE HBEL m3 5.40

R avsy—k 0 ck=18N/mm2[ m3 16.63 16.63

%t (EHIE-E2RB BRULWELE HBELD) m3 45.82

AREIHRRET ¢ 3.00m A T 1 1

ARsETHRET ¢3.00m F BEiFT 1 1

AR E THRENSE ¢ 3.00m A = 1 1




B BERIR(TED)

H 8
ZD5 BAR
1035-5
Ta| @ & sy T ~ T eI
1035-6
L) pad ER) pd ER TR £ TR £ TR EL) EE £ TR
HHT
FEMET | SEhREIET As 15cmEL T m 21073 192.00 10.60 8.13
AKERINET = 1 V=0.023 X 0.05 X 192+0.023 X 0.05  10.6+0.023 X 0.05 X 8.13=0. 24
AR (EHIRHITE) As 10cmELF | m2 872.64 105.60 8.48 758.56
TRI7MNREN m3 4363 528 042 37.93
FAIPIAERALSY 2.35t/m3 t 102.54 1241 0.99 89.14
MEMEIBT | FRERET ARC-40 20cm m2 113.10 105.60 750
REIBAZE | LERREET M-40 12em m2 113.10 105.60 750
R5N4  [{RREL Q#HIEAS(0) 5cm m2 114.08 105.60 848
{E3E1%75%
THEEE IR m2 758.56 758.56
REL OEHEASEH20FH) 5cm m2 758.56 758.56
REMRT | B RRER R 15cm m 50.00 50.00
B SMAIER - SRR 15cm m 192.00 192.00
&L
TEEET | RBEFEEREB AH 116.0 116.0
pezie s
B |(EYEBDEICLSERGEIRE) = 10 10
BiE | HWEBEAR - FREIL = 1 1
BRSO | EATREIS A RAE = 1 1
$AE
M |{RERM OB (1E38) t 11.50 11.50
Bk | RS OER (EER) t 11.50 11.50
{REEM FDOTAHIEIL & (H£18) t 11.50 11.50
{REEM FEDTEAHIEIL & (H18) t 11.50 11.50
#E#E
HIET  |HIETG0x1.0) 5L 2 2
BRI
REREE | RRE %5 1 1
RERE - RERWATOm2LL L~ 130m2K i ki 1 1
BINEER
BEH |TVAASHET m 93.75 93.75




